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Time Allowed : Three Hours @ Maximum Marks : 250

1 'a -
QUES‘I‘I?N'PA!{\EE SPECIFIC INSTRUCTIONS
(Please read (eé‘ch_\of,ff‘ﬁc\folln}wn‘g instructions carefully before attempting questions)

o LS, J.. ; : £ .
There f_sfre,c:EIGHT& questions divided in two Sections and printed both in HINDI and
n@(EN{gngs@\“\\J
C%ndida’tc has to attempt FIVE questions in all.
Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself. '

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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@Wg—A |/ SECTION—A

. Prafafaa # 8 7_% 7R F I M 150 7= # A
Answer the following questions in about 150 words each : 10x5=50

fa) wfemui % siefa @@ wem Oy = y? +1 8, T y Iarm R vfeeim qfd = sgem $iftg
3 2z s gfd am @ feard 2 R0

Under competition, the cost function is given as C(y) = y2 +1, where yis output.
Derive the inverse supply curve and show how the supply curve looks like.

(b) TEIUER TR F AR PE-T S dia vk f IR ) Ruita s R

What determines the degree of price discrimination under monopoly market?

fc) aiam fefe # F8 F #§ CFER e fea weR Ter W R7

How does ‘carbon trading’ help in reducing environment degradation?

W fraa 3 A T8 Jew fafu @ el 27

How is Human Development Index calculated beNDP? Can there be a better
method of assigning wc:ghts to various mdicatoJ

o @
(d) Qo@uaoﬂnmmﬁmmmmﬁmmﬁmmz? T@Wﬁl

el IR A B

thnw Qat inla almplc Keynesian model, equal expansion in tax and

( @v@nen} expenditure does not always lead to balanced budget theorem.

(e) m?sqﬁamﬁamﬂ!ﬂ'j \k’(\‘ﬂmﬂ 1§ qR F R A wda dghe 99 i

2. fa) ‘FwE R IR T F Sfoe R S I ¥ e Hiftm
‘Tragedy of the commons’ leads to over-exploitation of resources. Analyze. 15

(b) T e & foy Fraffes s R s & :
IP %o, C=250+0-5 (Y - T)-500r
i@ wem, 1=250-500r
arfa® 4z ®in e[, L / P =0-5Y -500r
g3 9fd, M = 7650
$ma w, P=17
W= T=WFI G = G = 200
TEl Y = At AW, ro= awates we R, L= B 50w, P o= fa
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i) IS 3 LM 7Fi % g wiiem 7w i ik Y @ r @ s Bl

(i) gz gfd aRe & o e wien T Fifve ol 3% 9’ err g g § viada 510
T A, & I # gfmda & ohemem Bifa
The following data are given for an economy :
Consumption function, C=250+0-5(Y - T)-500r
Investment function, J =250-500r
Real money demand function, L /P=0-5Y -500r
Nominal money supply, M = 7650
Price level, P=17
Tax = T = Government expenditure = G = 200
Here Y = Real income, r = Real rate of interest, L = Nominal money
demand, P = Price level.
fi) Find the equations for IS and LM curves, and solve for Y and r.

(i} Find out the multiplier formula for money supply change and then
calculate the change in output if money supply changes by 510. 7+8=15

o]

(c) Tom =R W Frdaw, Rremia 2 % fem i fra R ORR = 37 \1
How can controls on foreign trade contribute to thc develop { %dcvclo

e 15

3. (a) Tr:anaqfttn = ¢, 7@ 98 fi it gF 9@ o i 9% B Twm = |
) L.g) pX |
ufawm\gjaeﬁliﬁmﬁmhﬁ?ﬁhmmmmﬁ?
The mle\of income and substitution effect is crucial in producing backward
( e.n)dmg labour supply curve when a tax is imposed on wages. Do you agree? 15

(b) Ui i ferafieren & @ 4§, A A fafm w =awnsll—gw e ok ged Ta—% sdlm
T2 qfd 7 3fa & Sodtodle w EA a1t wyE § AW w1 W ffw

In case of perfect capital mobility, explain the difference of the impact of

an increase in money supply on GDP under two alternative exchange rate
regimes—one fixed and the other flexible.

15

(c) i wivdfen amm i gern § wEitees sRfem 9@ TR F e ik dEe 2F

& e o wrf 3R A e val W e fer v At

Reflect on the inefficiency and socially undesirable aspects of monopolistic

competition market situation vis-a-vis the perfect competition, both in the
short and in the long run. 20
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4. (a) fi-uifiFr wiza # sgadl f = awan @A 2 ok 2@ oef i wwen |} fRw yer fm
e R?

What is the follower’s problem in a duopoly model and how does it differ from
the leader’s problem? 15

(b) T wEwE-Fel wred, Wi snuiie TEm F 49 § wETel ¥9 R T W awd 87

Can public-private partnership function effectively in the area of physical
infrastructure? 15

(c) 3 FR-R Afirmem &, B w snufa W = =r frfal @ fwin fen s R, s g
ferift @ gewe w9 @ fim e #7

What are the features based on which the new trade theories are built that are
distinctly different from the old theories? 20

Ws—B / SECTION—B \“
Q- \

- Pt § 3 v v w1 I e 150w H Ay \ \ @

Answer the following questions in about 150 words:each 10x5=50

(a) e Hifsw fF o v&@s WA T @% aﬁmm‘nm-ﬁ-mﬁaﬁ%m

mw%m mm‘%m A 31 o W TEE B IER awE w3m)

\
Explmn‘{huw mf;tey miumpher will be affected if there happens to be partial
hqardmg ?yhpubllc in‘each round as well as excess cash reserve holding by

(: banlcs ‘over the minimum required.

{b)

mmam&mﬁmﬁaMﬁmm [ FE w27 we fifi)

In what sense is Friedman'’s quantity theory said to be a ‘restatement’ of
Fisher’s theory? Explain.

(c) W& 24 P F1 wm w3 F g FR-2F A TS 9 wqe Fon wm?

What criteria will have to be satisfied to obtain a Pareto efficient allocation?

(d) = ST @ T e e, wfim el @ dam 9w w2 E SR 3 ded i
g, 9 @ ftwiE F wm 92 390 §) Rt $if

Automatic stabilizers are supposed to mitigate cyclical fluctuations, but there
exist limitations which dampen the effect of these stabilizers. Analyze.

fe) migRE wfe-wdwma Aify g F wmd T=n-wn T §2 =i S

What are the obstacles to international macro-economic policy coordination?
Discuss.
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(b)

(c)

7. (a)

(b)

(c)

Hreieli dger, Srendl dged B fm wen fim {7

How is the Marshallian equilibrium different from Walrasian equilibrium? 15

Hafz Higel F 3 AEwEs AvEa ® w9 fifwe, frl spmum o) e el

g0 e R

Discuss the essential features of the growth models which incorporate research

and development. 15

FIEEH AR 0F 3 T GRS Thadd § i W ogem 1 | ) §1 ww
JART

In the contemporary world, many countries are not following Kuznets’ pattern
of structural change. Give reasons. 20

FEHS JLaN 66 I GHeql fFe YR Faw 98 I | ar ¢ 7 5 oR I w? we
Hife)

In what way does the concept of a positive optimal tariff apply to only large
countries and not to small countries? Explain. ° 15

\
gm%%qﬂmm,%ﬁwnﬁﬁﬁaaﬁﬁﬂﬂﬁﬁmaﬁﬁﬂﬁhzﬂ%g\
T e Hifsm)

Keynesian demand for money is one of the ke conccpts of esian theory of
unemployment. Illustrate. % 15
T agugr fam, mrﬁ:ﬁmgfis :,rtmm@rﬁ WAl R7 39 IW & ug § w0 wEgA
o AR

Can //ﬁr}\;\ul‘nq‘?\\ nal\ulwestmcnt defeat the objective of inclusive growth? Give
/reasons fnr\:,rouf answer. 20

(<.

()

(c)
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Wi ifa, sewwm A A, fre s fvsa @ S 22 = St

What makes monetary policy ineffective even in the short run? Explain. 15

NN HYRE-IA9F A Fgia-Flus @ wwm §) denfia fefd © 3 A o6 Hiftw

Trade can be growth-promoting or growth-inhibiting. Argue in terms of the
established theories. 20
Fh A T favam F Fm-Tn FRU § WEH e W AR AR YeR wh W
w87

What are the causes of market failure in agriculture? How may government

intervention mitigate this? 15

¥ % d
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